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RATIO AND PROPORTION

1. Express the ratio 45:108 in its simplest

form:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HR16outtLEPS

° Watch Video Solution

2. Shikha and Sumeet take Rs 600 and Rs 750
respectively from their parents as monthly
pocket expenses. What is the ratio of their

expenses in the simplest form?

o Watch Video Solution

3. Divide 108 in two parts in the ratio 4: 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_HR16outtLEPS
https://dl.doubtnut.com/l/_bKgtXbzBIXbG
https://dl.doubtnut.com/l/_f1cEu0416gtN

4. Divide Rs 1250 between Aman and Amit in

the ratio 2: 3.

° Watch Video Solution

5. Two numbers are in the ratio 4:5. If the

sum of the numbers is 135, find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_f1cEu0416gtN
https://dl.doubtnut.com/l/_KosJZvKav2aS
https://dl.doubtnut.com/l/_P4yjBM7dOl65

6. Divide Rs 1500 among A, B, C in the ratio

3:5:2.

° Watch Video Solution

7. Ratio of the number of male and female
workers in a factory is 5:3. If there are 115
male workers, determine the number of female

workers in the factory.

o Watch Video Solution



https://dl.doubtnut.com/l/_hK8SAsvL9vZ2
https://dl.doubtnut.com/l/_KVIXHKhDEe6e
https://dl.doubtnut.com/l/_PubLfAvi7iOf

8. The ratio of copper and zinc in an alloy is
5:3 . If the weight of the copper in the alloy is

30. 5 grams, find the weight of zinc in the alloy.

o Watch Video Solution

9. If z:y=2:3, find the value of

(3z + 2y): (2 + 5y)-

° Watch Video Solution



https://dl.doubtnut.com/l/_PubLfAvi7iOf
https://dl.doubtnut.com/l/_jgXl1nzhip2E

10. If (4= 4+ 5): (3 + 11) = 13:17, find the

value of .

o Watch Video Solution

11. What must be added to each term of the

ratio 2:5 so that it may become equal to

5:67

o Watch Video Solution



https://dl.doubtnut.com/l/_FbkvH4pgNvHF
https://dl.doubtnut.com/l/_ZTZI0WVHIrEu

12. A bag contains Rs 187 in the form of 1
rupee, 50 paise and 10 paise coins in the ratio

3:4:5. Find the number of each type of coins.

o Watch Video Solution

B. f xz:y=3:5 , find the ratio

3z + 4y: 8z + 5y .

° Watch Video Solution



https://dl.doubtnut.com/l/_oYXoJWUjH7W4
https://dl.doubtnut.com/l/_avlmS94aCCiK

14. If x:y=28:9, find the ratio

(Tz — 4y): 3z + 2y.

o Watch Video Solution

15. If two numbers are in the ratio 6:13 and

their L.C.M is 312, find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_dwk7jgsSh6FT
https://dl.doubtnut.com/l/_YI9Jbf5eajUr

16. Two numbers are in the ratio 3:5 . If 8 is
added to each number, the ratio becomes

2:3. Find the numbers

o Watch Video Solution

17. What should be added to each term of the

ratio 7: 13 so that the ratio becomes 2: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_6nI1PyOq9NJr
https://dl.doubtnut.com/l/_fEbGNgUsPa0P

18. Three numbers are in the ratio 2:3:5 and

the sum of these numbers is 800. Find the

numbers

o Watch Video Solution

19. The ages of two persons are in the ratio
5:7. Eighteen years ago their ages were in

the ratio 8:13. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_SLoltWMXbbJL
https://dl.doubtnut.com/l/_GfPX4nrvWWmc
https://dl.doubtnut.com/l/_9HEVm0LzFf17

20. Two numbers are in the ratio 7:11. If 7 is
added to each of the numbers, the ratio
becomes 2: 3. Find the numbers.

(a) 39

(b) 49

(c) 66

(d) 77

o Watch Video Solution

21. Two numbers are in the ratio 2:7. If the

sum of the numbers is 810, Find the numbers.


https://dl.doubtnut.com/l/_9HEVm0LzFf17
https://dl.doubtnut.com/l/_WEBOesOB4090

° Watch Video Solution

22. Divide Rs 1350 between Ravish and Shikha

in the ratio 2: 3.

o Watch Video Solution

23. Divide Rs 2000 among P, @, R in the ratio

2:3:5.

° Watch Video Solution



https://dl.doubtnut.com/l/_WEBOesOB4090
https://dl.doubtnut.com/l/_rx29RkeQ4xVC
https://dl.doubtnut.com/l/_y18u6lO6cbjE
https://dl.doubtnut.com/l/_imYt9gdMskv1

24. The boys and the girls in a school are in
the ratio 7:4. If total strength of the school

be 550, find the number of boys and girls.

° Watch Video Solution

25. The ratio of monthly income to the savings
of a family is 7: 2. If the savings be of Rs 500,

find the income and expenditure.

° Watch Video Solution



https://dl.doubtnut.com/l/_imYt9gdMskv1
https://dl.doubtnut.com/l/_HuvGPxFzYJTm
https://dl.doubtnut.com/l/_lkQUgunq1Od2

26. The sides of a triangle are in the ratio

1:2:3. If the perimeter is 36 cm, find its sides.

o Watch Video Solution

27. A sum of Rs 5500 is to be divided between
Raman and Aman in the ratio 2: 3. How much

will each get?

o Watch Video Solution



https://dl.doubtnut.com/l/_lkQUgunq1Od2
https://dl.doubtnut.com/l/_PBd9H6V2Fprq

28. The ratio of zinc and copper in an alloy is
7:9. It the weight of the copper in the alloy is

11.7 kg, find the weight of the zinc in the alloy.

o Watch Video Solution

29. In the ratio 7:8. if the consequent is 40,

what is the antecedent?

° Watch Video Solution



https://dl.doubtnut.com/l/_XD2YE5X3HjXs
https://dl.doubtnut.com/l/_dpDwXF5UxhRQ

30. Divide Rs 351 into two parts such that one

may be to the other as 2: 7.

° Watch Video Solution

31. Find the ratio of the price of pencil to that
of ball pen, if pencil cost Rs.16 per score and

ball pen cost Rs.8.40 per dozen.

° Watch Video Solution



https://dl.doubtnut.com/l/_9wpLd8UW9yuK
https://dl.doubtnut.com/l/_LYwSSRHjUH6D

32. In a class, one out of every six students
fails. If there are 42 students in the class, how

many pass?

o Watch Video Solution

33. Compare the ratios: 5: 12 and 3: 8

o Watch Video Solution

34. Compare the ratios: 7: 6 and 4: 9



https://dl.doubtnut.com/l/_CuEOaZchydYp
https://dl.doubtnut.com/l/_noeC945U4xaK
https://dl.doubtnut.com/l/_y6AO0gIBSaKR

o Watch Video Solution

35. Find two equivalent ratios of 6: 15.

o Watch Video Solution

14 6
. Fill in the followi I Pe— = = = —
36. Fill in the following blanks 51 3

o Watch Video Solution



https://dl.doubtnut.com/l/_y6AO0gIBSaKR
https://dl.doubtnut.com/l/_PAnKADONWEj0
https://dl.doubtnut.com/l/_MdMuSeoxkIAU

37. Which ratio is larger in the following pairs?

3:4 or 9:16(ii)) 15:16 or 24:25

° Watch Video Solution

38. Which ratio is larger in the following pairs?
(1)4:7 or 5:8 (i) 9:20 or 8:13  (iii)

1:2 or 13:27

° Watch Video Solution



https://dl.doubtnut.com/l/_ocIjR71XUXwq
https://dl.doubtnut.com/l/_9Sovkv1vj2QM

39. Give two equivalent ratios of 6: 8.

o Watch Video Solution

40. Fill in the following blank = = — = !
. n — = = = —
iIl'in the following blanks: o =

o Watch Video Solution

41. Are 30, 40, 45, 60 in proportion?

o Watch Video Solution



https://dl.doubtnut.com/l/_PahpF39ZqHcr
https://dl.doubtnut.com/l/_XinelWskjRLw
https://dl.doubtnut.com/l/_NdX7hkGj4ZRH

42. Are 36, 49, 6, 7 in proportion?

o Watch Video Solution

43. Are 4, 12, 36 in continued proportion?

o Watch Video Solution

44, 1f 3:x::12:20, find the value of x-

o Watch Video Solution



https://dl.doubtnut.com/l/_Z7EfEyo7ljgN
https://dl.doubtnut.com/l/_NoHR79Pnjcp2
https://dl.doubtnut.com/l/_LsdUFtMGq1YF

45, The first three terms of a proportion are

3, 5 and 21 respectively. Find its fourth term.

° Watch Video Solution

46. What must be added to the number
6,10,14 and 22 so that they are in

proportion?

° Watch Video Solution



https://dl.doubtnut.com/l/_ztshKn2ZTSJu
https://dl.doubtnut.com/l/_bERavhTAUH39

47. For every 12 mangos that | buy, 3 turn out
to be rotten. At this rate, how many rotten

mangoes will | have if | buy 100 mangoes?

o Watch Video Solution

48. The scale of a map is 1:3000000. what is
the actual distance between the two towns, if

they are 3 cm apart on the map?

o Watch Video Solution



https://dl.doubtnut.com/l/_bD8zAJoDOQB3
https://dl.doubtnut.com/l/_yVSNbPgxfRjR
https://dl.doubtnut.com/l/_IWsKwRTbsW0P

49, If three loaves of bread are consumed by 9
people, how many people will consume 9

loaves of bread?

o Watch Video Solution

50. Find which of the following are in
proportion? (i)33,44,66,88 (i) 46,69,69,46

(iii)72,84,186,217

o Watch Video Solution



https://dl.doubtnut.com/l/_IWsKwRTbsW0P
https://dl.doubtnut.com/l/_J5gjHNP635No
https://dl.doubtnut.com/l/_R5g7PTrtSZKw

51. Find z in the following proportions:
(1)16:18 = x: 96

(i) z:92 = 87:116

o Watch Video Solution

52.The ratio of the income to the expenditure
of a family is 7:6. Find the saving if the

income is Rs 1400.

o Watch Video Solution



https://dl.doubtnut.com/l/_R5g7PTrtSZKw
https://dl.doubtnut.com/l/_3T3tesAuLzW2

53. The scale of a map is 1:4000000. What is
the actual distance between the two towns if

they are 5 cm apart on the map?

o Watch Video Solution

54. The ratio of income of a person to his
savings is 10: 1. If his savings of one year are

Rs 6000, what is his income per month?

o Watch Video Solution



https://dl.doubtnut.com/l/_KqrRnw0C5aK1
https://dl.doubtnut.com/l/_2VpRl6Fy0tJG
https://dl.doubtnut.com/l/_cA9V6AwV5L4T

55. An electric pole caste a shadow of length
20 metres at a time when a tree 6 metres high
caste a shadow of length 8 metres. Find the

height of the pole.

o Watch Video Solution

56.1f a: b = 3:4, then4a:3b =
(@)4:3
(b)3:4
(c)l:1

(d) None of these


https://dl.doubtnut.com/l/_cA9V6AwV5L4T
https://dl.doubtnut.com/l/_kowDQfJiytFi

° Watch Video Solution

57 1 . 1 —_
. E o % -

(a) 4:1

(b) 1:4

(c) 5:1

(d) 1:5

° Watch Video Solution



https://dl.doubtnut.com/l/_kowDQfJiytFi
https://dl.doubtnut.com/l/_rvfOoIgcR3i9

58. The simplest form of 24:36 is (a)9:4 (b)

4:9(c)3:2(d) 2:3

o Watch Video Solution

50.Ifa:b =4:5and b:c = 2:3, thena:c
(@)4:3

(b) 8:15

(c) 8:9

(d)5:3

o Watch Video Solution



https://dl.doubtnut.com/l/_LygJAMItd7Tl
https://dl.doubtnut.com/l/_LU76tQA3SBZX

25p + 14q
60.If p:q = 2:5, then =
pd 5p + 7q

(a)8:5

o Watch Video Solution

61. A ratio equivalentto 2: 5 is
(@)6: 15

(b)4:5


https://dl.doubtnut.com/l/_LU76tQA3SBZX
https://dl.doubtnut.com/l/_2XNf8jdYvlMu
https://dl.doubtnut.com/l/_RQb4ASGVQoyS

(c)5:2

(d)5:4

° Watch Video Solution

62.1f 2a = 3b = 4c, thena:b:c =
(a)2:3:4
(b) 3:4:6
(c)4:3:2

(d)6:4:3

° Watch Video Solution



https://dl.doubtnut.com/l/_RQb4ASGVQoyS
https://dl.doubtnut.com/l/_Z0RMXRGYUlSi
https://dl.doubtnut.com/l/_ZjsQ5Nw9phBQ

63.1f 2r = 3yand 4y = 5z, thenz:z =
(@)4:3

(b) 8:15

(c)3:4

(d) 15:8

° Watch Video Solution

64.1f - — 2 = E, thena:b:c =
2 3 4

(a) 2:3:4

(b)4:3:2


https://dl.doubtnut.com/l/_ZjsQ5Nw9phBQ
https://dl.doubtnut.com/l/_qalF4l8i9VfV

(c)3:2:4

(d) None of these

° Watch Video Solution

01o1
S
: 3

65. If = 3:4:5, thena:b:c

A~ Q-

(a) b:
(b) 20:15:12
(c)9:12:15

(d) 12:15: 20

° Watch Video Solution



https://dl.doubtnut.com/l/_qalF4l8i9VfV
https://dl.doubtnut.com/l/_KAaq3n7bQu88
https://dl.doubtnut.com/l/_7sDEZYLSOY3o

66. If a:b=5:Tandb:c=6:11, then
a:b:c =

(a) 35:49: 66

(b) 30:42: 77

(c) 30:42:55

(d) None of these

° Watch Video Solution

3z + 4y
67.fx:y=1:1, then 52 1 6y
7
(a)ﬁ
17

(b) 77


https://dl.doubtnut.com/l/_7sDEZYLSOY3o
https://dl.doubtnut.com/l/_OH71IAT3Q2j8

17
23
4
d) =
(d) ¢

(c)

° Watch Video Solution

3 2b
68.1fa:b = 2:5, then @ =
4a + b
16
(a)

Y13
13
16
25

(c) E

20
21

(b)

(d)

° Watch Video Solution



https://dl.doubtnut.com/l/_OH71IAT3Q2j8
https://dl.doubtnut.com/l/_9tEZ95IE5vY8
https://dl.doubtnut.com/l/_7X2PO2DktP5L

69. The mean proportional of a and b is 10 and
the value of a is four times the value of b- the
value of a + b(a > 0,b > 0) is

(a)20

(b) 25

(c)101

(d) 29

o Watch Video Solution

70.1f 8: x: :16: 35 Find the value of x

(a) 35


https://dl.doubtnut.com/l/_7X2PO2DktP5L
https://dl.doubtnut.com/l/_EvzPUALrFVO5

(b) 70

35
2

(d) 24

(c)

o Watch Video Solution

71. The mean proportional of 6 and 24 is
(a)15

(b) 12

(c)8

(d) 144

o Watch Video Solution



https://dl.doubtnut.com/l/_EvzPUALrFVO5
https://dl.doubtnut.com/l/_WwpSRuGMiB8A

72. The boys and girls in a school are in the
ratio 9: 5. If the number of girls is 320, then
the total strength of the school is

(a)840

(b) 896

(c)920

(d) 576

° Watch Video Solution



https://dl.doubtnut.com/l/_WwpSRuGMiB8A
https://dl.doubtnut.com/l/_PDLNVfQpbieO

73. If the first three terms of a proportion are
3,5 and 21 respectively, then its fourth term is
(a)21

(b) 35

(c)15

(d) None of these

o Watch Video Solution

74. What must be added to each term of the

ratio 9: 16 to make the ratio 2:37


https://dl.doubtnut.com/l/_1fKMHFgM0SOo
https://dl.doubtnut.com/l/_gN6T6i9JGn3S

(d) 6

° Watch Video Solution

75. What least number is to be subtracted

from each term of the ratio 15: 19 to make the

ratio 3:47


https://dl.doubtnut.com/l/_gN6T6i9JGn3S
https://dl.doubtnut.com/l/_4zwyFjHJmWuP

(b)6

(d)9

° Watch Video Solution

76. If Rs 840 is divided between P and @ in
the ratio 3:4, then P’s share s

(a)Rs 340

(b) Rs 480

(c)Rs 360

(d) Rs 400

o Watch Video Solution



https://dl.doubtnut.com/l/_4zwyFjHJmWuP
https://dl.doubtnut.com/l/_Pnja2envWIss

77. The ages of Ravish and Shikha are in the
ratio 3: 8. Six years hence, their ages will be in
the ratio 4: 9. the present age of Ravish is
(a)18 years

(b) 15 years

()12 years

(d) 21 years

° Watch Video Solution



https://dl.doubtnut.com/l/_Pnja2envWIss
https://dl.doubtnut.com/l/_AjDwx4duNVn7

78. The present ages of Renu and Ravi are in
the ratio 5: 6. The sum of their present ages
is 44 in years. The difference of their ages (in

years) is

(d) 2

o Watch Video Solution



https://dl.doubtnut.com/l/_p3STneFiJOF1

79. The third proportional of 3 and 27 is
(a) 243
(b) 256
(c) 289

(d) 225

o Watch Video Solution



https://dl.doubtnut.com/l/_uEol3inll1NW

